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CALCUL MENTAL

OBJECTIF : Trouver un quotient en utilisant la table de multiplication.

55 divisé par6 ? g =

16 divisé par8 ? q =

39 divisé par6?q= .....

54 divisé par6 ? g =

40 divisé par5? g =

6 divisépar5?qg= .....

16 divisé par2? q=

49 divisé par7? g =

13 divisé par4?qg= .....

3l divisepar7?qg=

38 divisé par6? g =

32 divisépar7?qg= ...

17 divise par5?q=

75 divisé par8? g =

33 divisepar4?q= ...

5 divisé par5?q=

33 divisé par9?q-=

10 divisé par4?q= .....

19 divisé par 6 ? q =

41 divisé par5?q=

ldivisépar8?q= ...

77 divisé par9?q=

10 divisé par5?q=

65 divisé par8? g = .....

30 divisé par9?qg=

19 divisé par8? q =

50 divisé par6? g = .....

20 divisé par3? g =

46 divisé par8? g =

28 divisé par3?qg= .....
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CORRECTION

CALCUL MENTAL

OBJECTIF : Trouver un quotient en utilisant la table de multiplication.

55 divisé par6?qg= 9

16 divisé par8?2q= 2

39 divisépar6?qg= 6

54 divisé par6?qg= 9

0o

40 divisé par5? g =

6 divisépar5?qg=1

16 divisé par2?qg= 8

49 divisé par7?qg= 7

13 divisé par4?qg= 3

3ldivisépar7?q= 4

»

38 divisé par6 ? q =

32 divisepar7?qg= 4

17 divisepar5?q= 3

75 divisepar8?q= 9

33 divisepar4?qg= 8

5divisépar5?2qg=1

w

33 divisé par9?q=

10 divisepar4?q= 2

19 divisepar6?q= 3

(o]

41 divisé par5?q=

1divisépar8?q= 0

77 divisé par9?qg= 8

10 divisé par5?qg= 2

65 divisé par8?qg= 8

30 divisépar9?qg= 3

N

19 divisé par8? q =

50 divisé par6?qg= 8

20 divisé par3?qg= 6

ol

46 divisé par8? g =

28 divisé par3?qg= 9
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